Chemica! Equilihrium | 0,
- Some. reactions ore reyersible
reactonts —»  prodwets forwaoural

reacotion
Nacg) 13 Hacg) —> 4 NH3cg)

reactants <4 Pnoolud-s reulLrse
reQCHon
I\)afg) + BHacg) a NHBCQ)

You show +the reaction is reversible by
using DU € ARROWS,

reactonts = products
Na@+ 3Hag) = aNH3(q)

 Toynamic Euilibriom occurs when ...

e rate of the  _  +re rote of e
forward. reacticn reuerse reacHon.
@ eq’ull.ibrium...

- Hhe concantiations of +e reactants
ondl prodwets Wil NOT. CHANGE !

- the concertrations of the reactants
ond prodoets DO NOT. HAVE T RE
epuRL !
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Solids & Lquids are NeVel writtin in +he expression !
Examples - write. the egilibriom Jxpression for thess
rewersible reactions:

(0 _Nacg) + 3Hag) & 2 NHzeq)

Cjéq‘: CMH%lZ

CNgICH’

(2) mges) + dHa0) = m%(OH)aCOCﬁ +  Hatg)

0’(@9_? CocoH s ACHaS
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(3)  Bra@) = Bracd)

CHags = —

CRra§

) ACsHiw ) + g50acg) S 10 Wacg) + 18Ha0(g)

/‘K@Q\ = £e0s1 'LHe0T
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\) 0y + AHatg) = CH30H¢g)
Cod cvlate d(\ocL whun +he wowdd tbrium mix{are

eontains 0803M LH3OH, .151M Hz and -0830M CO .
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Heg = 10.5 e i a
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(2) Thu Le%uipibrium wnstant #r du reaction
S AHT (9) = Hacg) + Taq)
1577849, Finol the goncentration of T wiun CHal

is d.d79x10" U ond CHTIis 32.940x10 " H.
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(3)  For tha reaction Nacg) + BHacg) = ANHzc9), K«b

is .39% %Z.wha{- is +he conuntration of iHa ¥
CMNal is .85M anol +Hw CVH3Z is . S M

d<&q~= CNHzT? 302 I/Ha 5 ‘E-SUM:[Z
CN2ICHa 12 L.85M73 CHal?

CHe3™ .39 > = 295844  Trypy>
CH2d % |

Tie [
CHp33 39342 = 2.9584M
. 393UH? 333 112

Cr,1% = A sh3735869 M3

‘?’J L4s1% = 3)7.52;4355?&@

CHz]l (=] 2.0




